
2 Owthzuncu %.R. 2562

dafiunl%thaûu

rilluauMuntAnu

unMtïn

1

25 < 81

twnn;aiannnmnlîûu fumu

25 < 81 

20 < 81

GIS '-inuvrl<

15 70

unt%Jînnî

15

wa.qu. VqnhqnîtJhUVïU

100

2

= 81-85

= 8185

= 81-85

75

81-85.99

3

= 86-90

= 86-90

= 86-90

80

86-90.99

4

= 91-95

= 91-95

= 91-95

85

91-95.99

5

>95

90



2.v;nnŞfı;

5.nnşvînşnuıÜuÜtJ

l.nnşâşfiınşıevş

üjÜşnu(m il)

ğiunnşüxıiu

2.mnXR7n1îoşÂnşuayxuuşnmnnş

3.nnşmşaaaoumnxqniûşfflûşnxuauşnu

ğÜxıiu

unt8ün (%)

14 ı

14 ı

14 ı

14 ı

14 ı

10 ı

10 ı

10 ı

100

'511NÜnş1üQRÜU1fiVIU1

(unwnmaniü )

Ânuyüş

nnaa:iuaanıâüşıvığaaauuu

Müıuşnuanunşoüiuü şuuuİomnaş•11Âmnumnuıuunzau


